End of Unit 5 Review Sheet
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There are many cones with a height of 12 inches. Let 7 represent
the radius and V represent the volume of these cones.

1. Write an equation that expresses the relationship between V'
and r. Use 3.14 as an approximation for .

2.Plot points that show the volume whenr = 1,7 =
and 7 = 4.Show your reasoning.
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3. A vendor at a street fair sells popcorn in cones, all of height 9
inches. The sharing-size cone has 3 times the radius of the
skinny-size cone. About how many times more popcorn does
the sharing cone hold than the skinny cone?
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Which is closest to the difference in the volume of the two
cylinders?
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A
15,795 cm?
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A sphere has a volume of 972 cm®. What is its radius in
centimeters?
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The graph shows the refationship
betweenaspheresradiusand | *
volume.
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Select all the statements that are true about this relationship.

A
If the radius doubles, the volume doubles.

B:
If the radius doubles the volume becomes about 4 times bigger.

@
If the radius doubles, the volume becomes about 8 times bigger.

D:
The relationship is linear.

E
The relationship s not linear.
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For cylinders with radius 2 units, et A represent the height of the
cylinder, in units, and the V represent the volume of the cylinder, in
cubic units.

1. Complete the table relating the height and
volume of cylinders with radius 2 inches. Write | f |V
each volume as a multiple of 7, or round to the
nearest cubic unit.

2.1s there a linear relationship between height
and volume? Explain how you know.
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A cone and cylinder have the same height and their bases are
congruent circles. If the volume of the cylinder is 120 in?, what is
the volume of the cone?
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Three students each calculated the volume of a sphere with a
radius of 6 centimeters.

« Diego found the volume to be 288 cubic centimeters.
« Andre approximated 904 cubic centimeters.
« Noah calculated 226 cubic centimeters.

Do you agree with any of them? Explain your reasoning.




